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% Problem 4.66

% Find i_C for i_B = 1, 10, 20, 30, 40
% i_C = beta * i_B for all V_CE
beta = 100;
iB=[1 10 20 30 40]*1e-6;
VCE = [0:1:8];
for ii=1:5
    iC(ii,:) = beta*iB(ii)*ones(size(VCE));
end
plot(VCE,iC*1000)
legend('i_B = 1 uA','i_B = 10 uA','i_B = 20 uA','i_B = 30 uA','i_B = 40 uA')
hold on
xlabel('V_{CE} (V)','FontSize',14)
ylabel('i_{C} (mA)','FontSize',14)

% Calculate load line
RC = 1e3;
VL = [0 5];
IL = [5/RC 0];
plot(VL,IL*1000,'k')
% Plot line showing V_CE = 2.5 V
plot([2.5 2.5],[0 beta*50e-6]*1000)
grid
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